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B.E./B.Tech. DEGREE EXAMINATIONS,
NOVEMBER/DECEMBER 2010.

THIRD SEMESTER
COMPUTER SCIENCE AND ENGINEERING
CS 35 — OBJECT ORIENTED PROGRAMMING
(Common to Information Technology)
(REGULATIONS 2008)
Time : Three hours . Maximum : 100 marks
Answer ALL questions.
PART A —\\(10 x 2 = 20 marks)

1. What is binding? What is the process behind dynamic
binding? g

2. How security is incorporated in Object Oriented
Programming structures?

3. What is the order of execution of destructor in inherited

classes?




[image: image2.png]4. When does a copy constructor become useless
instantiating the objects with a copy of another one
alternate is required for it?

5. What is the difference between
1 throw 20;
20d Throw (int);

A
6.  What is the functionality of assert in exception han

7. Give a sample purevirtual function.

8. Provide necessary example for cross casting anc
casting.

9. What defines a namespace? What is ano
namespace?

10. Write any four function templates of List S
mention its functienality.

PART B — (5 x 16 = 80 marks)

11. (@) () Write a C++ program with five nested
defined, How is the object created
innermost class in two different
Show with suitable example.
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®)

(a)

(i)

(]

(i)

O]

(i)

Write a C++ program that inputs a line of
tokenizes the line with a member func
which is similar to the function strtok( )
outputs the tokens in the reverse order.

Or

Write a C++ program to provide a neces
Counter member variable in a class
increments the number of objects create
that class.\Implement with less numbe
Lines of Code (LoC).

N

Write; a program using C++ pointers
stringfs to check if the string is palindrom
not and; print the palindrome string in
(rppqsité case it is -input (ie. Input : n:
Output : NAN is palindrome).

‘Write a C++ program to show the conversio
Fahrenheit to Centigrade using

conyersion‘explicit constructor.

Give the two different Implementation
overloading a unary ++ or — — for pr

operation
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®)

(a)

@

(i)

(4]

(i)

Give  the implementation details
overloading binary operators by using
keyword and without friend.

Implement a derived constructor with va,

number of arguments in the base class,

Write a C+4 /prggga;h which shows that
order of exception handlers is Important '
the program to show that two differe
ordered handlers execute with two differ
effects. |

What is the sequence of catch handlers fo
multilevel inheritance? And state why? C
derived from B and B from A.

Qew e n
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15.

®)

(a)

b)

(@)

(i) Create an appropriate template class that
implements the associative array. Use this
template class to maintain telephone directory
and have function templates to insert into and
erase from the directory. (12)

(i) Write a program to demonstrate the
invalid_argument exception. (4)

Create an abstract class called figure which has an
abstract method called draw( ). Make the subclasses
called Filled_Rectangle, Filléd_Square and override
the draw( ) function in which"you would just print
the message regarding the ‘current object Generate
object code for the expression (a + b) — (e — ¢ + d)
using simple, (16}

Or

Write a Function template to find the smallest
positive odd integer N such that

1 +38° +5° +...+ N*
exceeds 1000. Print both the value N and the

corresponding sum. (16)

Write a program to show getline and three-
argument get istream member functions each end
the input string with a string terminating null
character. (16)

Or

; Gz )
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